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Midterm Exam

Fall 2021, Complex Analysis II

Mathematics Education, Chungbuk National University

28.10.2021 15:00–16:40

Instructions: Please write your name on each page. If you want some portion of your writings on

your answer sheet not to be graded, just cross it out. You are not allowed to use your textbook

or notes. You cannot use any electronic device in this exam. You are not allowed to talk to other

students. Please write all details explicitly. Answers without justifications and/or calculation steps

may receive no score.

Extra sheets: Use the blank page on the back of each answer sheet as your scrap paper. Your

work on blank pages will not be graded. Do not write your answers on those blank pages. If you

need more space for writing down your answers, please ask for additional sheets.

1. Answer whether each of the following statements is true or false. No need to give reasons or

details. Just say true or false. 2 points for each correct answer, 0 point for no answer, and −2

points for each incorrect answer.

(1) The winding number of a curve C at 0 that wraps the unit circle k times is 1
2πi

∫
C

1
zdz.

(2) The value of ii is e−
π
2 .

(3) If D is a simply connected domain, then a holomorphic branch of complex logarithm is defined

by
∫ z
z0

dζ
ζ + log z0 for some z0 ∈ D.

(4) The winding number n(γ, α) of the curve γ at α ∈ C is a constant in the connected components

of the complement of γ.

(5) The C-valued function f(z) = z
ez−1 has a removable singularity at z = 0.
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2. The principal value of the complex logarithm is defined on −π
2 ≤ Arg(z) < 3π

2 and z1/2

is defined on that holomorphic branch of the logarithm. Compute
∫
|z|=2 3z1/2dz. [10 points]
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3. Let D = {z ∈ C|0 < |z| < 1} be a region in the complex plane C and a function f : D → C be

holomorphic. For an arbitrary z ∈ D, the function f(z) satisfies an inequality

|f(z)| ≤ 1 + ln

(
1 + |z|

2|z|

)
.

Show that f(z) has a removable singularity at z = 0. If f
(
1
2

)
= 1, compute the value of f

(
1+i
3

)
. [15

points]
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4. Let

f(x) =
ex − 1

1− x
be a function defined on {x ∈ R| − 1 < x < 1}. Find the 3rd-order Taylor polynomial expanded at

x = 0. Also compute the integral ∫
C

ez − 1

z4(1− z)
dz,

where C is a curve in the complex plane traveling along the circle centered at 0 with radius 1
2

revolving once in counterclockwise direction. [10 points]
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5. Show that an equation in complex variables z + e−z = 2 has only one complex root in

|z − 2| < 2, and also show that the root is real. [20 points]
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6. Suppose f is holomorphic inside and on a positively oriented simple closed curve γ and

has no zeros on γ. Show that if m is a positive integer then

1

2πi

∫
γ
zm

f ′(z)

f(z)
dz =

∑
k

(zk)
m

where zk is the kth zero of f inside γ, and all zeros are of multiplicity 1. [10 points]
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7. Consider CR = {Reit ∈ C|0 ≤ t ≤ π} a semicircle with radius R in the complex plane C
as in the figure below. For a > 0 and b > 0, show that

lim
R→∞

∫
CR

zeibz

z2 + a2
dz = 0

and compute ∫ ∞
−∞

xeibx

x2 + a2
dx.

[15 points]
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8. Compute
∞∑
n=1

1

n4

by using the residue theorem. (Cf. cot z = 1
z −

z
3 −

z3

45 −
2z5

945 −
z7

4725 +O
(
z9
)
. No need to justify how

you have obtained the given infinite sum as a residue of a some complex-valued function at a point.

The grader will look at only the final answer.) [10 points]

8


